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Y, A specific tax, t>0, is levied on the output of a monopoly. The monopolist faces
demand, g = p° ,where ¢€>1, and has constant average costs. Show the effect

of the imposition of the tax. (10 points)

Z.. We can generalize the profit function for a firm producing multiple outputs rather
than one. If the firm produces the output vector y =(¥,,...,¥,,) from inputs

x = (%,,...,X, ), the relationship between efficient input and output vector can be
written in terms of the transformation function as the implicit function T(y, x) = 0.
If p, w are vectors of product and input prices, the generalized profit function

is 7(p,w) =max p-y—w-x, s.t. T(y, x) = 0. Show that this profit function has all
y,X

the properties of a profit function, and that the Hotelling’s lemma applies. (20
points)

\

-. Apply the envelope theorem to derive all major comparati{/e statics result of a

~

consumer utility maximization model. (20 points)
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